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2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration

[ 0612
34.54 8.2250 [
; i )6115
34.52 8.22f
1345 8.2151 0611
34.487 8.21F )6105
34.46
I 8.205\- 0.061-
34.44 I
. 8.2F i
I )6095(
34.42) [
I 8.195} -
I i L0609
'III|||||||||||||||||I -III|||||||||||||||||I |||||||||||||||||II|I

0 02 04 06 08 1 0 02 04 0.6 0.8 1 0 02 04 06 0.8 1



0.0577

J.05765

0.0576

).05755

0.0575

0.0515
).05145
0.0514
J.05135
0.0513
J.05125
0.0512

o/p vs. Iteration (E1, E2 > 500 MeV)

\

o||'||||||

o/p vs. lteration (E1, E2 > 900 MeV)

02 04 06 08 1

o TTr[TTTT

02 04 06 08 1

).05375

0.0537

J.05365

0.0536

).05355

0.0535

o

J.04985
0.0498
J.04975
0.0497
).04965
0.0496
J.04955
0.0495
).04945

o/p vs. lteration (E1, E2 > 700 MeV)

\

o/ vs. lteration (E1, E2 > 1100 MeV)

oII

02 04 06 08 1

02 04 06 08 1



1200

1000

800

600

400

200

180
160
140
120
100
80
60
40
20

3Mass Spectum for final iteration (E1

X
[
o

E2 > 500 MeV)

Fit o/p =5.761 £ 0.010 %

)

Entries 1.221691e+08
X2 / ndf 1.176e+04 / 165
Prob 0
p0O 6.967e+05
pl 0.1352
p2 0.00779
p3 2.618e+05
p4 0.01505
p5 —-1.248e+07
p6 4.276e+06
p7 —8.732e+04

3Mass Spectum for final iteration (E1

0.18 0.2
m(2y) [GeV]

E2 > 900 MeV)

x10 Entries 1.179281e+07
F X2 / ndf 3796/ 165
E Prob 0
- Fi = + ") po 1.226e+05
- Fit o/u =5.135 +0.014 % pl 0.1362
r p2 0.006994
E p3 3.821e+04
- p4 0.01427
o p5 -1.394e+06
E pé 4.74e+05
- p7 -1.842e+04
3 ) —
e SR PR BN B B R B
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2

m(2y) [GeV]

450
400
350
300
250
200
150
100

50

70000
60000
50000
40000
30000
20000
10000

3Mass Spectum for final iteration (E1, E2 > 700 MeV)

x10 Entries 3.55353e+07
E X2 I ndf 6493 /165
= Prob 0
E Fi - 0 0 2.873e+05
:—FI'[ o/p =5.366 +0.011 % gl 0.1350
E p2 0.007292
E p3 9.861e+04
E p4 0.01453
E p5 -4.054e+06
= p6 1.37e+06
F p7 -4.325e+04

S T T R T B
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]

Mass Spectum for final iteration (E1, E2 > 1100 MeV)

Entries 4217967
= X2 / ndf 2100/ 165
F Prob 0
o = - 0 0 5.282e+04
- Fit o/p =4.965 +0.019 % gl 01363
= p2 0.006768
E p3 1.542e+04
= p4 0.01402
E p5 -4.931e+05
= p6 1.696e+05
F p7 —7424

Bt v v 10 b b ey
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]



1000

800

600

400

200

X
[
o

Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)

o

200 400 600 800

1000 1200 1400 1600

Current iteration([i] - last iteration[i] gain constants

Entries

1536

'OIIIIIIIIIIIIIIIIIIII

()] 8

L1
-0.04

-
-0.02

45
40
35
30
25
20
15
10

Current iteration (Blue) and current ccdb constants

Red)

Entries

1536

[T S L \THE TENETY [ TRV W A A

o

1200

1000

800

600

400

200

0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1

Current iteration[i] - current ccdbli] gain constants

x10

-3

Entries

1536

.06

L1
-0.04

L1
-0.02



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6


